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A 1AH A

IBGL | TS5 R@#4 [ToRE| B3 AL IBGL | TS5 R@#E [T Ra] B AL
1 T4k o 26,869 304.2 1 7H7 = 23,973 97.7
2 797 =] 22,885 101.9 2 TUHR =V 23,501 100.1
3 TR =V 20,162 113.7 3 T4k ozl 18,303 149.5
4 Ho—5 k34 10,868 224.9 4 /—k HE 12,237 74.2
5 /—k HiE 10,334 71.1 5 Ho—3 =E 11,335 161.9
6 L7+ HE 9,910 123.7 6 L7 HE 10,496 94.2
7 1Y E=E 6,732 115.6 7 Sy E=E 8,386 105.2
8 |THRFLAIL HE 6,616 283.6 8 A — =k 8,147 205.8
9 Jr¥L oz 6,235 (25-12) 9 | THRFLAIL HE 7,554 2315
10 g5y =V 5,299 99.5 10 J7 =L 6,202 194.0
11 A TytA oz 5,278 1430.4 11 7ot5 IVE 5,558 488.8
12 | 42FLyy | RN 5,262 119.8 12 | RTyFody | Hwus 5,557 71.7
13 |Jz)I7A47 | +3%F 4,654 126.1 13 959y =E 5,518 57.1
14 NYF— =] 4,617 8244.6 14 | 42TFLyy | RNL 5,360 127.2
15 2U—F oz 4,592 81.2 15 INJT— EL 5243 10,486.0
16 7ot5 IYE 4476 378.4 16 ARAK =E 5,224 107.5
TR ESSrEVINE 2] 4,167 89.4 17 T TvtA RS 5,176 1,157.9
18 ARAK =E 3,691 97.0 18 |JxII7A47 | +3%F 4,892 110.9
19 4O — =L 3,685 126.2 19 13wy =L 4,758 114.7
20 13y =] 3,480 120.2 20 2)—F ol 4,651 63.9
21 T34 IVE 3,361 82.6 21 CX-5 IYVE 4,498 214.9
22 CX-5 IVE 3,124 129.6 22 eI oz 4257| (25-12)
23 ALk AXE 3,073 125.5 23 ALk AXE 3,784 110.3
24 IRTAX =] 2,942 125.1 24 TIA4 VS 3,617 79.1
25 | ZILI7—FK =L 2,823 119.4 25 | ZILI7—FK =L 3,493 120.1
26 SAI =V 2,667 860.3 26 IRTAX =] 3,373 109.7
27 | I4LRE— | AL 2,640 87.6 27 | 24LRE— | AL 3,285 119.9
28 <—F BHE 2,549 108.6 28 PDES XX ¥ 3,161 114.1
29 YDES X ¥ 2,371 107.3 29 RILT =L 2,985 103.1
30 J7 EE] 2,281 99.0 30 SAI =] 2,579 676.9
JZ] 38 A 2013%4H ~2014%3H

IBGL | TS5 R@E# [T EE| B! AL IBGL | TS5 R@#& [T Ra] B8 AL
1 T4k oz 31,921 157.0 1 TI97 =E 259,686 91.9
2 797 =L 31,146 92.4 2 TUHR =V 251,915 89.7
3 TR =V 28,274 86.9 3 T4k RS 217,100 127.6
4 /—k HiE 17,319 81.2 4 /—k HiE 135,162 117.0
5 HOo—5 =] 15,654 150.1 5 Ho—5 =E 117,255 145.5
6 Ao — =] 11,937 229.6 6 L+ HE 95,716 99.8
7 T4y =] 11,890 96.7 7 vy =L 86,814 93.0
8 L7 HE 10,966 85.0 8 i =k 74,370 162.2
9 )7 =L 9,841 243.9 9 | 42FLyY | RNL 62,524 115.2
10 | 42FLyy | R/NL 9,632 130.7 10 2)—F o 60,849 70.7
11 | THRRLAIL HE 9,093 266.3 11 [ AFyFoay | wos 57,641 87.0
12 eI oz 8,649 (25-12) 12 Ao — E=Ed 53,612 128.5
13 7ot5 IYVE 7,784 475.2 13 |JzII7A7 | +3%F 52,728 106.7
14 959y =V 7,439 64.2 14 ARAK EE] 49,151 118.2
15 N7 — =] 7,020{ 19,500.0 15 13y =L 45,070 99.2
16 ARAK =V 6,701 105.0 16 | THXRLAIL| BE 42,533 161.8
17 13y =L 6,665 119.1 17 AT+ X ¥ 42,157 99.3
18 21—k RS 6,576 63.2 18 J7 =L 41,093 127.9
THESS PP EPIE ) 6,571 72.6 19 TIF4 VS 40,799 71.4
20 | AL RE— | AR/NL 6,150 140.9 20 CX-5 IYE 39,079 95.9
21 [ Jzo747 | FI% 5,999 113.4 21 | I4LRE5— | AL 37,125 198.5
22 T34 VS 5,466 83.1 22 | ZILI7—FK =L 35,741 99.1
23 ATk AXE 5,429 104.9 23 IRTAX =L 35,669 95.8
24 ATyt A oz 5,215 870.6 24 7ot5 IVE 31,851 227.1
25 YDES AXE 4,788 117.2 25 YDES ZXE 31,551 89.2
26 | ZILI7—F =L 4,621 125.3 26 RILT EE] 31,468 96.6
27 RILT E=E 4,439 111.2 27 FTTvtA ho& 29,080 484.9
28 IRTAX =L 4,338 97.7 28 <—F HE 25,909 78.4
29 SOTAR =L 3,848 99.8 29 4y =L 25,812 79.2
30 CX-5 IYE 3,598 58.4 30 SOTAR EE] 25,628 79.7
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A 44 A

IBGL | DS REHA [To0RE| B AL IBGL | IS R@ma (IS Ra| B8 AL
1 J4vb oz 15,621 170.2 1 J4vb RS 12,984 137.8
2 797 EE] 13,683 79.6 2 7H7 =L 12,138 85.6
3 A — =V 9,271 364.4 3 TR =L 9,788 52.9
4 TR EE] 8,692 47.2 4 JAI— =] 9,336 370.3
5 Ho—35 =E 8,255 138.6 5 Ho—5 = 8,217 144.1
6 eI oz 7,959 (25-12) 6 eI oz 7,899 (25-12)
7 J7 k34 5412 250.8 7 Sy =k 6,580 112.0
8 /—k HE 5,364 57.0 8 /—k HE 6,567 70.2
9 4y 3% 4,924 71.3 9 J7 =E 5,215 213.2
10 | THRRLAIL HEE 4,204 297.1 10 L7+ HE 4613 73.1
11 NJTFT— =] 3,531] 18584.2 11 NJTFT— = 4,005] 80100.0
12 | 42FLyy | RN 3,345 82.8 12 2U—F ol 3,910 91.1
13 L7 BE 3,256 71.9 13 13y =L 3,851 120.6
TN ESS P EVINE %] 3,240 104.7 14 | 42TFLyy | RNL 3,398 92.1
15 ATk AXE 3,108 92.4 15 7ot5 VS 3,143 285.0
16 VA AXF 2,899 121.4 THESSrPEPINE 2] 2,970 98.2
17 959y =L 2,647 32.4 17 959y E=E 2,863 41.3
18 13y =L 2,557 78.4 18 |THRXRLAJL| BE 2,830 176.4
19 |JzII7A47 | 3% 2,433 65.5 19 ATk AXF 2,767 90.1
20 2Y—FK oz 2,356 56.3 20 A AXE 2,649 114.5
21 ARAK =L 1,785 50.4 21 ARAE =L 2,521 75.4
22 7ot5 IYE 1,699 226.8 22 |JIII7AT7 | FIZ 2,342 66.0
22 RILT =E 1,699 73.9 23 CX-5 IVE 2,197 75.0
24 CX-5 IVE 1,696 80.5 24 T4 IYVE 2,001 63.0
25 TIF4 VS 1,676 60.0 25 | J4LRE— | AL 1,500 45.8
26 IRTA4X =V 1,618 76.1 26 IRTAX =] 1,488 62.9
21 | 77—k EE] 1,604 58.8 21 | 77—k =L 1,474 57.4
28 | J4LRE— | AR/NL 1,473 43.6 28 RILT =L 1,443 61.9
29 |SvRoL—v—w| F3I4Z 1,291 106.1 29 FTvtA oz 1,435 508.9
30 SIVA =] 1,143 74.4 30 SOTAR EE] 1,337 63.5
JZ] 68 A 2014518 ~2014%6R1

IBGL | IS R@HA (TS RE| B AL IBGL | IS @i (IS Ra] B AL
1 7I7 =] 19,812 97.6 1 7H7 = 123,637 93.4
2 J4vb RS 16,066 131.8 2 J4vb ol 121,764 168.7
3 TR =V 13,557 62.2 3 TR =V 103,974 78.5
4 YSItIL RS 11,680] (25-12) 4 Ho—5 =] 64,311 159.8
5 JAI— =L 11,134 283.5 5 /—k BHE 59,721 72.4
6 Ho—5 k34 9,982 157.9 6 Ao — =k 53,510 254.0
7 T4y E=E 9,936 139.5 7 vy E=E 48,448 105.3
8 /—F HE 7,900 69.7 8 eI oz 46,679 (25-12)
9 /7 =L 5,862 202.6 9 L+ HE 44,473 90.3
10 2)—F roS 5,380 87.4 10 J7 =L 34,813 204.4
11 13y =] 5,268 149.5 11 | THXRLAIL | BE 33,996 247.6
12 L7 HE 5,232 82.6 12 | 42FLyy | RNL 29,911 103.9
13 NJTF— =] 4,880 13 NJTF— = 29,296 17542.5
14 7ot5 IYE 3,709 342.2 14 2U)—F oz 27,465 72.3
15 |THXRLAJL | BE 3,699 207.5 15 959y =L 26,964 55.6
16 ATk AXE 3,697 102.5 16 13y =] 26,579 117.5
TR ESSPPEVINE 2] 3,655 64.4 17 7ot5 IVE 26,369 382.5
18 959 EE] 3,198 47.3 THESSPPEVINE 2] 26,160 80.1
19 ARAK =L 2,967 86.0 19 ARAK =] 22,889 90.2
20 | 41>FLyy | RANL 2,914 57.2 20 |JIII7AT | RIZ 22,836 92.5
21 VDES ZXE 2,882 99.9 21 ATk AX I 21,858 103.6
22 |JIII7AT7 | FIZ 2,516 62.3 22 T TvtA ol 20,277 862.5
23 Li+—4 Z/N)L 2,133| (26-5) 23 YA AXF 18,750 112.6
24 FTvtA oz 2,122 565.9 24 T34 IVE 17,895 73.3
25 RILT =E 2,066 84.8 25 CX-=5 IVE 17,050 87.5
26 CX-5 IYE 1,937 51.2 26 | JALRE— | AL 16,742 85.0
27 SOTAR EE] 1,926 88.4 21 | 77—k =L 15,671 92.2
28 TIF4 VS 1,774 55.0 28 IRTA4X =] 15,501 88.3
29 IRXATAY EE] 1,742 54.4 29 RILT =E 14,650 87.8
30 | I4LRE— | AR/NL 1,694 58.0 30 SOTAR =L 12,297 86.7
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A 7H A

IBGL | IS R@ma (IS rE| B3 AL IBGL | IS @A (IS Ra] B AL
1 T7I7 =] 23,909 83.4 1 7H7 = 14,543 68.8
2 TR =V 16,865 73.1 2 T4k ozl 13,369 215.9
3 T4k ozl 16,636 144.0 3 TR =V 10,675 63.7
4 Ao — =] 12,704 292.7 4 o — E=E 8,531 315.1
5 T4y =E 11,891 129.5 5 PRI oz 7,985 (25-12)
6 eI oz 11,567| (25-12) 6 Ha—5 =E 6,651 96.9
7 Ho—5 k34 11,193 152.7 7 /—F HE 6,622 75.4
8 /—F HE 8,703 74.3 8 Li+—4 Z/\)L 5391| (26-5)
9 J7 k34 6,784 201.5 9 vy E=E 4,811 90.4
10 L7 HE 6,591 73.2 10 NYF— EE] 4673| (25-12)
11 Li+—4 /3L 5,352 (26-5) 11 J7 =k 4,658 241.5
12 13wy k34 5,223 125.9 12 L7 HE 4,655 70.4
13 N)F— =k 5,205 13 2U—F oz 3,871 66.9
14 2U—F RS 4,960 181.0 14 959y E=E 3,330 65.1
15 ATk AXE 4,238 106.5 15 13y =] 2,969 115.2
16 959y =L 3,543 52.7 16 ATk AXE 2,777 85.8
TR ESESrEVIN 2] 3,520 52.4 17 7ot5 IYE 2,711 274.1
18 |YziI747 | R34 3,448 66.5 18 |THXRLAJL| BE 2,553 136.7
19 ARAE =k 3,437 71.2 THESrpEIN %) 2,359 53.8
20 | THRRLAIL HE 3,416 158.8 20 A AXE 2,170 104.4
21 | 42FLyy | RANL 3,244 56.8 21 | 42FLyy | RANL 2,096 51.3
22 7ot5 VS 3,097 233.9 22 ARAK =L 2,080 58.3
23 J)A AXE 2,611 96.7 23 CX-5 IVE 2,072 92.1
24 RILT =E 2,506 87.5 24 RILT =k 1,927 87.9
25 T3F IVE 2,344 53.9 25 T3F IVE 1,870 62.4
26 ATyt A oz 2,328 592.4 26 |JTII7AT | RIZ 1,763 49.8
27 I—F HE 2,182 80.8 27 T TvtA RS 1,759 464.1
28 F9T14R =E 2,167 91.4 28 <—F HE 1,419 67.9
29 CX-5 IYE 2,093 61.4 29 | ZII7—F =L 1,375 55.0
30 | ZII7—FK =L 2,057 69.3 30 IRTAX EE] 1,353 56.9
JZ] 98 A 2014548 ~2014%9RA

IBGL | IS F@HA (TS5 RE| B AL IBGL | IS r@ma ([ ISV Ra| B8 AL
1 797 =L 20,255 76.3 1 7H7 =V 104,340 81.5
2 J4vb RS 17,764 91.6 2 Javb "o 92,440 136.1
3 TR =V 15,308 66.4 3 TR =V 74,885 61.6
4 Ao — E=Ed 12,064 322.1 4 Ao — E=E 63,040 318.6
5 PRI oz 10,603| (25-12) 5 eI oz 57,693 (25-12)
6 /—k HiE 9,824 62.7 6 Ho—5 =E 53,5652 124.7
7 Hho—3 k34 9,254 85.8 7 Sy =F 45,340 109.9
8 L7 HE 7,830 72.1 8 /—k HE 44,980 67.9
9 Lixr—4 /3L 7,800 (26-5) 9 J7 =E 35,718 231.3
10 J7 =V 7,787 294.0 10 L+ HE 32,177 73.7
11 T4y =] 7,198 104.8 11 NYF— EE] 29,287 27,480.4
12 N)F— k34 6,993 12 2Y)—FK oz 26,660 85.8
13 2U—F oz 6,183 78.2 13 KV =k 24,145 120.1
14 | THRRLAIL HE 4,395 151.5 14 Li+—45 Z/\)L 21,314] (26-5)
15 13y EE] 4,277 125.9 15 | THXRLAJL | BE 21,097 180.0
16 959y =L 4,268 66.8 16 559y =V 19,849 49.5
17 7ot5 VS 4,140 479.7 17 ATk AXE 19,787 94.3
18 T4 IVE 4,044 95.4 TN ESSPPEVINE 2] 19,388 62.3
THESSPPEPINE 2] 3,644 44.2 19 | 42FLyy | RNL 18,608 63.5
20 | 41>FLyy | RANL 3,611 54.1 20 7ot5 IVE 18,499 302.7
21 ARAK =L 3,464 77.1 21 ARAK =] 16,254 71.1
22 ATk XX 3,200 85.9 22 PDES AXE 16,066 106.5
23 ATyt A oz 3,038 433.4 23 |JIII7AT7 | FIZ 15,154 60.5
24 CX-5 IYE 2,948 73.8 24 TIF4 VS 13,709 66.0
25 VDES AXE 2,855 105.0 25 CX-5 IYE 12,943 70.1
26 | JTIIFAT | FIZ 2,652 52.9 26 RILT =E 11,944 79.5
27 RILT E=E 2,303 79.5 27 T TvtA ho& 11,733 487.0
28 | J4LRE— | AR/NL 2,064 56.3 28 | ZILI7—F =L 10,220 60.9
29 | ZII7—FK =L 2,054 62.9 29 IRTAX =L 9,823 57.1
30 IRTAX =] 1,776 50.8 30 | I4LRE— | AR/NL 9,818 52.7




*30f1 1% Rl & 3k

JZ] 108 JZ] 118

IBGL | IS R@ma (IS ra| B3 AL IBGL | IS R@HA (TS RE| A AL
1 7I7 =L 18,031 90.2 1 7H7 =L 16,520 95.8
2 Ja4vb oz 13,506 58.0 2 TUoR =L 13,022 62.9
3 TR EV 13,183 63.1 3 T4k o 11,027 42.0
4 Ao — =L 10,735 3275 4 TIF IYE 8,890 353.6
5 Ho—3 =] 8,407 66.6 5 Ho—5 =E 8,197 61.2
6 /—k HE 8,036 83.8 6 /—k HE 7,555 71.0
7 St o 7,663| (25-12) 7 INJTFT— =E 6,741 674100.0
8 IN)T— k34 6,665 8 Ao — =k 6,628 178.4
9 J7 =E 6,550 266.3 9 T4y =k 6,426 98.4
10 T3F Y5 6,102 218.7 10 eI oz 6,157 (25-12)
11 T4y =k 5,998 87.0 11 | TX9747 =E 5316] (26-11)
12 L7 HE 4,628 73.0 12 J7 k34 4,845 180.2
13 2U—F RS 4423 90.6 13 L+ HE 4610 58.3
14 Lix+—45 Z/\L 4,059(26-5) 14 959 =L 3,958 72.9
15 13y =L 3,943 110.6 15 13y =L 3,784 103.4
16 959 k3% 3,700 61.8 16 22—k oz 3,493 73.0
17 | TH9XRLAJL | BE 3,076 133.8 17 |TH2XRLAJL | BE 3,246 196.3
TN ESSrPEPIN 2] 2,595 48.9 18 Li+—4 Z/\N)L 2,719| (26-5)
19 ALk AXE 2,537 82.1 19 ALk AXE 2,454 80.2
20 ARAK =L 2,423 59.9 20 ARAE =] 2,415 67.1
21 7ot5 IYE 2,368 184.6 NNESSPPEIEZ] 2,158 83.2
22 YA AXE 2,360 125.7 22 Y )A AXE 2,114 95.7
23 |JIII7AT | RIZ 2,215 48.6 23 7ot5 Y5 2,067 57.1
24 IRATAX =L 1,913 68.9 24 |JIII7AT | FIZ 2,041 48.7
25 | 4>TFLyy | RANL 1,905 45.8 25 RILT E=E 1,904 80.6
26 CX-5 IYE 1,830 70.6 26 IRTAX =L 1,811 68.8
27 RILT =L 1,776 68.6 27 WRX Z/N)L 1,793 (26-7)
28 | ZILI7—FK =L 1,684 54.9 28 CX-5 IYE 1,788 45.7
29 T TvtA o 1,634 111.2 29 | ZII7—F =] 1,703 70.1
30 SOTAR =L 1,621 82.5 30 SOTAR =L 1,676 78.8
30 [Suro—4—w| k3% 1,621 113.6




